SHOW WORK FOR FULL CREDIT NO CALCULATORS

1. Find A, B, and C in the partial fraction decomposition
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3. Find a function f(z) such that f f(z)v/zdr = co, but f f(z)dz converges. Give

1
the exact value of the second integral or otherwise prove it converges.
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4. Use integration by parts to evaluate the integral / sin"tzdz.
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5. Recall that the degree 1 finite Fourier approximation of f(z) is g(z) = a+bsinz + ccos z,
where

1 1

a= f( ) dz b:%‘/7r f(z)sin(z) dz , and c=_ 7Tf(:z:)cos(:z:)d.;s’

When f(z) = 2°, determine whether a, b, and ¢ are positive, negative, or 0, and give a
Justlﬁcatlon for each. Circle one answer for each qf a, b, and c.
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6. Evaluate the integral / sec’ z tan® z du .
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7. Evaluate the integral / V16 — z?dr in two ways: (i) by direct evaluation, and (ii) by

interpreting the mtcgral as a geometric area.
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8. Find the exact value of the following:

(a) tan~!(tan(w))

(b) cos(sin™!(1/2))
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9. Evaluate the integral ] —tﬂ’n—_lgf—)dx.
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